Homework from Lecture #10
This homework is due no later than 5pm, on the day of exam #2, along with all the other homeworks assigned prior to exam #2.  You can hand them in in-class (before or after the exam), or you can drop them off in room 154 for me, or you can staple it to all the other homeworks that are due, and slide it under my office door (office #319)
	Section
	Homework Problems
(In the form #(answer)    )
	

	2.4
	#53 (see back of book)

#54

a: -4

b: -13

c: -1
	#57 (see back of book)

#58

a:
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b: AROC = 4.  Therefore, the function is, on average, increasing from 2 to 5

c: <picture>

d: <use your calculator,  don't worry about the secant line part>

	2.7
	#7 (see back of book)

#9 (see back of book)

#11 (see back of book)

#13 (see back of book)

#14 (c)

#16 (j)

#18 (k)
	#27 (see back of book)

#29 (see back of book)

#30 (see graph of 
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#31 (see back of book)

#33 (see back of book)

#34 (see graph of 
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	2.7
	For each of the problems to the right, you're asked to draw the graph that corresponds to the given equation.

You can check your work using your graphing calculator ; you should make sure that you can explain how each part of the equation affects the graph.  So for y = x2 + 2, you should be able to explain (in clear English) that the +2 shifts the graph up by 2 units
	#35 (see back of book)

#39 (see back of book)

#41 (see back of book)

#47 (see back of book)

#49 (see back of book)

#54 (see calculator)

#58 (see calculator)


Keep in mind that for every homework assignment, you should do as many problems as you need to really have some confidence that you understand the material.  If that means you do more than what’s here, that’s great.
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